MCQ Endocrinology 1
1. Which is incorrect regarding hypoglycaemia?

a. Metformin rarely causes hypoglycaemia.


b. Ethanol abuse inhibits hepatic gluconeogenesis producing hypoglycaemia.

c. Glucagon 1 mg IM will take approx 1-2 mins to normalize neuro state.

d. If the hypoglycaemia is resistant to large amounts of glucose steroids should be given.

e. Venous blood glucose is 10% lower than arterial.

2. Which is incorrect regarding DKA?

a. Pregnancy increases the likelihood of DKA.

b. DKA usually involves a combined high anion gap metabolic acidosis and hyperchloremic acidosis.

c. Total body potassium is usually low.

d. Measured serum potassium is usually low.

e. Urine dipsticks only detect acetoacetone and not beta hydroxy butyrate.

3. Which is incorrect regarding cerebral oedema in treatment of DKA?

a. Usually occurs in the first 24 hrs when patient improving.

b. Mortality is about 7%.

c. Older patients are more at risk.

d. 50% will develop some premonitory symptoms e.g. severe headache, incontinence, seizures etc.

e. Initial treatment consists of stopping fluids and mannitol 1-2 mg/kg.

4. Which is not a feature of HONK as compared to DKA?

a. Usually affects patients with type 2 diabetes.

b. Blood glucose is usually higher than DKA often >40mm/l

c. Usually develops over a longer time than DKA.

d. Mortality rate is up to 4 times higher.

e. Fluid deficit is usually less than DKA.
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